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*******************************************************/

#include <stdio.h> /x OO0O0OO0O0OOOOOOO */
#include <stdlib.h> /x OO 0000000 ODOOO */
#include "bandit.h" /+* OO0 000000 OOOOOO0O %/

int main(){
int select_arm, num_arm;

double reward;

init_bandit(); /* 00000000og =/
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/* 00000000000 =/
printf ("0 000000D00O0O0O0ODOOOO0O0O0O [1-3]:");

scanf ("%d", &select_arm);

/* 00000000 */

switch(select_arm){

case 1:
printf ("0 1 000\n");
break;

case 2:
printf ("0 2000 \n");
break;

case 3:
printf ("0 3000 \n");
break;

default:
printf("000\n");

break;

/* 00000000 =/

reward = bandit(select_arm);

if(reward > 0.0){ /* 0000000000000 =000 %/
printf("O0000O\n");

Yelseq{ /* 00000000 =000 =/
printf("O00000\n");

return O;
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> gcc -0 gameplay gameplay.c bandit00.o0
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